

# NATIONAL DISASTER RISK REDUCTION AND MANAGEMENT COUNCIL

National Disaster Risk Reduction and Management Center, Camp Aguinaldo, Quezon City, Philippines

# National Disaster Risk Reduction and Management Council INCIDENTS MONITORED

### Initial Report for the Riverine Flooding Incident in Licab, Nueva Ecija (Region III)

DATE OF INCIDENT	October 12, 2024
TIME OF INCIDENT	03:00 pm
DATE ISSUED	October 13, 2024
TIME ISSUED	06:00 pm
OVERVIEW	On 12 October 2024, around 03:00 PM, northern parts of Nueva Ecija experienced heavy rainfall which caused Labong River in the Municipality of Licab to overflow, affecting five (5) barangays (Aquino, Poblacion Sur, San Cristobal, San Juan and Tabing-ilog). No reports of casualties related to this event to this event.

Prepared by: MORRIS JAN AUXILLOS

Noted by: SHELBY A RUIZ

Approved by: AMADOR V. CORPUS

Websites: www.ocd.gov.ph; ndrrmc.gov.ph

### **AFFECTED POPULATION**

A total of 963 families or 4,800 persons were affected. Of which, 0 families or 0 persons were served inside 0 ECs and 0 families or 0 persons were served outside ECs:

Affected Provinces	AFFECTED			INSIDE ECs		OUTSIDE ECs			
	Brgy	Families	Persons	No. of ECs	Families	Persons	Families	Persons	
TOTAL	5	963	4,800	0	0	0	0	0	
NUEVA ECIJA	5	963	4,800	0	0	0	0	0	

### **Affected Population**

REGION   PROVINCE   CITY/		NO. OF AFFECTED			No. of ECs		Inside Evacuation Centers				Outside Evacuation Centers				TOTAL SERVED			
MUNICIPALITY   BARANGAY															(Inside + Outside)			
		Brgys.	Families	Persons	,		Families		Persons		Families		Persons		Families		Persons	
					CUM	NOW	CUM	NOW	CUM	NOW	CUM	NOW	CUM	NOW	CUM	NOW	CUM	NOW
GRAND TOTAL	1	5	963	4,800	1	0	12	0	45	0	0	0	0	0	12	0	45	0
REGION 3	1	5	963	4,800	1	0	12	0	45	0	0	0	0	0	12	0	45	0
NUEVA ECIJA	1	5	963	4,800	1	0	12	0	45	0	0	0	0	0	12	0	45	0
Licab	1	5	963	4,800	1	0	12	0	45	0	0	0	0	0	12	0	45	0
Barangays of Aquino, Poblacion Sur, San Cristobal, San Juan, and Tabing-ilog		5	963	4,800	1	0	12	0	45	0	0	0	0	0	12	0	45	0

## Initial Report for the Riverine Flooding Incident in Licab, Nueva Ecija (Region III) ACTIONS TAKEN

### **Region 3**

### OCD3

Conducted continuous coordination with Licab MDRRMO and DSWD3

### DSWD3

- -Conducted validation and assessment on the damage brought by the incident as reference for possible intervention, in coordination with the Municipal Social Welfare Office of Licab, Nueva Ecija
- -Prepared and submitted Situational Report

#### LICAB MDRRMC

- -Conducted forced evacuation along river-side
- -Provided relief assistance to affected population